

अखिल भारतीय आयुर्विज्ञान संस्थान, रायपुर (छत्तीसगढ़) All India Institute of Medical Sciences, Raipur (Chhattisgarh)

Tatibandh, GE Road, Raipur-492 099 (CG)

Phone No. 0771-2572930, e-mail: ee.civil@aiimsraipur.edu.in

NIQ No: 13/EE/AIIMS/RPR/2019-20

Date:26-09-2019

NOTICE INVITING QUOTATION

Sealed **percentage rate quotation** is hereby invited by The Executive Engineer (Civil) on behalf of The Director, AIIMS Raipur from the **eligible Contractors of CPWD**, **MES**, **BSNL**, **Chhattisgarh State PWD** having relevant documents and bid should be submitted to office of Project Cell, Hospital Administrative Block, Gate No-1, AIIMS Raipur up to **03:00PM** on 30-09-2019. The right to reject any or all the quotations without assigning any reasons thereof shall rest with undersigned. The quotations will be opened on the same day at **03:30 PM**. As per detailed below:

S1	NAME OF WORK	EST. COST in	E.M.D in	TIME
No		Rs.	Rs.	
	Development works for ORIANA 2019 for			
1	AllMS, Raipur.	Rs.4,48,656.00	Rs.9,000.00	15 days

SCHEDULE OF QUANTITY

SI No	Description of items	Quantity	Unit	Rate	Amount	
1	AS PER ATTACHED SHEET					

Conditions:

- 1. The **percentage rates** are to be quoted in words and figures inclusive all taxes octroi, transportation etc. (Nothing to be paid extra on this account).
- 2. EMD Rs. 9,000.00 has to be deposited in form of DD/FDR/BG in favor of AIIMS Raipur with quotation. In case the lowest bidder refuses to execute the work, EMD will be forfeited. EMD will be retained of successful bidder and will be released after successful completion of work.
- 3. **Security Deposit @2.5**% of quoted value will be deducted & will be released after 06(Six) months of successfully completion of work.
- 4. Specifications to be followed for execution of work as per CPWD Specifications-2019 and direction of the Engineer-In Charge.
- 5. The **first and final bill** payment will be done after completion of work as per specification.
- 6. Labour Law to be obeyed by the Agency.
- 7. Certificate of Registration for GST, Contractors' registration & Copy of PAN card should be attached with Quotation and duly seal & sign on each documents.
- 8. Time allowed for the completion of the work is **15 days**. It will be reckoned from the day award of the work.
- 9. The bidder shall be responsible for arranging and maintaining at his own cost all materials, tools & plants, water, electricity access, facilities for workers and all other services required for executing the work.

- 10. The Contractor shall remove from site all rubbish and debris generated by the Works and keep Works clean and tidy.
- 11. All damages done to the building during execution of work shall be the responsibility of the contractor and the same will be made good immediately at his own cost to the satisfaction of the Engineer-in-Charge. Any expenditure incurred by the department in this condition shall be recovered from the contractor and decision of the Engineer-in-Charge about recovery shall be final.
- 12. Bidders are suggested to visit the site with Junior Engineer(C) Er. Parag Yadu & Junior Engineer(E) Er. Jitendra Sahu before participating in the quotation.
- 13. The work will be done in a running hospital, hence the work to be done as per the rules and instructions of Engineer-In-Charge. All the conditions of work at site are applicable to the successful bidder.
- 14. Signing of Application/bid:
- a) If the bidder is an individual, the application/bid shall be signed by him above his full type written name and current address.
- b) If the bidder is a proprietary firm, the application/bid shall be signed by the proprietor above his full type written name and the full name of his firm with its current address.
- c) If the bidder is a firm in partnership, the application/bid shall be signed by all the partners of the firm above their full type written names and current addresses, or, alternatively, by a partner holding power of attorney for the firm. In the later case a certified copy of the power of attorney should accompany the application. In both cases a certified copy of the partnership deed and current address of all the partners of the firm should accompany the application.
- d) If the bidder is a limited company or a corporation, the application/bid shall be signed by a duly authorized person holding power of attorney for signing the application accompanied by a copy of the power of attorney. The bidder should also furnish a copy of the Memorandum of Articles of Association duly attested by a Public Notary.

Executive Engineer (C) AIIMS Raipur (C.G.)

Copy to:

- 1. The Director, AIIMS Raipur-
- 2. The Deputy Director (Admin), AIIMS Raipur -
- 3. The Senior Administrative Officer, AIIMS Raipur-
- 4. The Accounts Officer-I, Project Cell, AIIMS Raipur-

5. The Junior Engineer (C)-Er. Parag Yadu, AIIMS Raipur. -

for kind information please for kind information please for kind information please for information.

Preparation of Market Rate

Justification, Rate analysis and measurement sheet before opening of NIQ.

Executive Engineer (C) AIIMS Raipur (C.G.)

Name of work - Development works for ORIANA 2019 for AlIMS, Raipur					
I.No.	Description of items	Quantity	Unit	Rate	Amoun
1	Excavating holes more than 0.10 cum & upto 0.5 cum including getting out the excavated soil, then returning the soil as required in layers not exceeding 20 cm in depth, including consolidating each deposited layer by ramming, watering etc, disposing of surplus excavated soil, as directed within a lead of 50 m and lift upto 1.5 m.				
1.1	All kinds of soil	28.00	Each	79.30	2220.40
2	Rolling with power roller of minimum 8 tonnes i/c dressing and levelling of ground.	2850.00	sqm	4.64	13224.0
3	Rolling with power roller of minimum 8 tonnes	10200.00	cam	2.42	24684.0
4	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:	10200.00	sqm	2.42	24064.0
4.1	1:2:4 (1 cement : 2 coarse sand (zone-III) : 4 graded stone aggregate 20 mm nominal size).	3.00	Cum	6788.60	20365.8
5	Supplying and stacking and spreading in layers at site.				
5.1	Stone Dust	165.00	çum	767.05	126563.2
6	Cutting of weedings and removal from site to dumping Municipal Ground.	12000.00	Sqm	1.37	16440.0
7	Steel work in built up tubular (round, square or rectangular hollow tubes etc.) trusses etc., including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer, including welding and bolted with special shaped washers etc. complete.				
7.1	Hot finished seamless type tubes	461.00	Kg	157.50	72607.50
8	Steel work welded in built up sections/ framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.				
8.1	In stringers, treads, landings etc. of stair cases, including use of chequered plate wherever required, all complete	709.00	kg	93.65	66397.85
8.2	In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	243.00	kg	131.00	31833.00
9	Providing and fixing carbon steel galvanised (minimum coating 5 mlcron) dash fastener of 10 mm dia double threaded 6.8 grade (yield strength 480 N/mm2), counter sunk head, comprising of 10 mm dia polyamide PA 6 grade sleeve, including drilling of hole in frame, concrete/ masonry, etc. as per direction of Engineer-in-charge.				
9.1	10.27.1 10 x 60 mm	60.00	Each	103.65	6219.00
10	Painting with aluminium paint of approved brand and manufacture to give an even shade .			23333	
10.1	Two or more coats on new work	76.00	Sqm	112.25	8531.00
11	Demolishing lime concrete manually/ by mechanical means and disposal of material within 50 metres lead as per direction of Engineerin-charge.	4.00	cum	607.50	2430.00

I.No.	Description of items	Quantity	Unit	Rate	Amount
			(A) (CIVIL TOTAL	391515.80
	ELECTRICAL (B)				
I.No.	Description of items	Quantity	Unit	Rate	Amount
1	Erection of metallic pole of followinglength in cement concrete 1:3:6 (1 cement : 3 coarse sand : 6 graded stone aggregate 40 (mm nominal size) foundation including excavation and refilling etc. as required.				
1.1	Above 6.5 metre and upto 8.0 metre	2.00	Each	5365.00	10730.00
2	supply of 10 Sq mm 3 core aluminium cable Non Weather proof Unarmoured PVC Insulated Unsheathed Cable with Aluminium Conductor for working Voltage up to and including 1100 Volt and conforming to IS:694/90 Reaffirmed 2005 Conductor shall conform to table I and II as applicable 0f IS:8130/1984 Reaffirmed 2005	220.00	metre	119.00	26180.00
3	Supply of 4 sq mm THREE CORE round cable with PVCinsulation and sheathed with multistrand flexible Copper Conductor FOR Submersible Pumps (FORMAXIMUM CONDUCTOR TEMPERATURE 70°C OR 85°C) duly ISI marked to IS:694 latest	170.00	metre	119.00	20230.00
				L (B) TOTAL	57140.00
	(A) CIVIL+ ELECTRICAL (B)				448655.80
				SAY	448656.00
Percentage	In Figure				
Rate Quoted by the Agency	In Words				
Name of Agency:		ı			
Address Details:					
Contact no:					
Valid email id:					